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Math Pre-Calc 20 Final Review
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Chp 5 Radicals

#1.  Simplify:
a)  
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b)  
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c)  
[image: image3.wmf]4

6

9

y

32x


#2.  Change each mixed radical into an entire radical:

a)  
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b)  
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#3.  Simplify:
a)  
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b)  
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c)  
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#4.  Multiply (Expand) the following and simplify:

a)  
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b)  
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c)  
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d)  
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e)  
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f)  
[image: image14.wmf](

)

2

5

2

2

3

-


g)  
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#5.  Divide the following and be sure to rationalize all denominators:
a)  
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b)  
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c)  
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d)  
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e)  
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f)  
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g)  
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#6.  Solve the radical equations:
a)  
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b)  
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Chp 6 Rationals

#1.  Simplify:
a)  
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b)  
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c)  
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#2.  Multiply/Divide the following and simplify:

a)  
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b)  
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c)  
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#3.  Add/Subtract the following and simplify:
a)  
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b)  
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c)  
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d)  
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e)  
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#4.  Solve each rational equation and list all the restrictions:
a)  
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b)  
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#5.  The sum of two numbers is 12.  The sum of their reciprocals is 
[image: image43.wmf]9
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.  Find the numbers.

#6.  Two hoses are used to fill up a pool.  If one hose fills the pool in 6 hrs and the other fills the pool in 12 hrs, how much time would it take the fill the pool using both hoses?
Chp 7 Absolute Value and Reciprocal Functions
#1.  Evaluate:
a)  
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b)  
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c)  
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d)  
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#2.  Solve each equation:
a)  
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b)  
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c)  
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#3.  Use the graph of y=f(x) to sketch the graph of y=|f(x)|

a)






b)  

#4.  Sketch the graph of:
a)  y = |x – 3|



b)  y = |-x2 + 4|
#5.  Express y = |x – 3| as a piecewise function.
#6.  Sketch the graph of y = x + 1   and   
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#7.  Sketch the graph of y = x2 – x – 6   and   
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Chp 8 Systems

#1.  Solve by graphing.  Give approximate solutions if needed.  Verify your solutions.
y = ½x+2

y + x2 + 2x = 8
#2.  Solve algebraically.  Verify your solutions.

y = 3x + 1

y = 6x2 + 10x – 4
#3. Solve algebraically.  Verify your solutions.

x2 + y – 3 = 0
x2 – y + 1 = 0
#4.  Solve algebraically.  Verify your solutions.
y = x2 – 4x + 1

2y = -x2 + 4x + 2

Chp 9 Quadratic Inequalities
#1.  Solve:
a)  x(x + 2) > 0




b)  -3(x – 1)(x + 2) < 0

#2.  Solve:
a)  x2 + x – 12 < 0



b)  x2 > 5x

c)  9 – x2 < 0




d)  x2 – 3x + 6 < 2x

e)  2x2 < 3 – 5x




f)  x3 – 4x2 > 0
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